N
of the following g uestions.

Write short answers |
T A bucket is takento the bottom of a well, does the bucket possess 4
Fyisghen & 3 iy

Ans. Since the potential ener
P.E=m E h

eference, some work is done in taking the .,
he bucket possess negative P.E the with Ucket js
re

Taking the earth’s surfaceasr
the earth surface therefore t

surface of the earth.

Spect to the

2. When an arrow is shot from its bow, it has K.E. From where does it get 4,
Ans. When an arrow is taken in to the cord (string) of the bow, it is -;§?
is done upon it against the elastic force of the cord in outward direction Th-ed I8, wor|
must be stored in the cord in the form of elastic P.E. Hence on shootin NS Work don
arrow the elastic P.E of the cord is transferred to the arrow in the formgol:;?:;;i“! the

- WIth whigh

arrow moves towards the target.

__________ Explain?
Ans. Wh i i .
en a balloon is filled with hydrogen (a gas lighter than air), th
, the gas

particles will exert pressu
re on the walls of th
the hydrogen gas agai : e balloon. Hence work must
S 4 - gainst the elastic force of the balloo b wi el
e form of elastic P.E. n walls, which will store initin

the balloon. T
hus the hydrogen filled balloon must poss
ess some P.E.

-
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conv
f

ictional or resistive forces. done by the bullet against the
r

ans. We know that work is only said to be done when a body

covers some displacement along the direction of the force. Since
the tension in a string is acting upward and displacement along T
the direction perpendicular to the force of tension in the string,
therefore;
W =FS Cos 90°
W=FS(0)
W=0 W

7. A meteor when enters into the earth’s atmosphere burns. What h

energy?
Ans. A meteor when enters from space in to the dense atmosphere of the earth with
very high speed, then due to very large frictional forces of the air and other particles it
catches fire and burns. The energy of the meteor is mainly transformed into heat, light
and also to produce some sound, just in accordance with the law of conservation of

energy.

e done on the spring against the elastic

Ans. When winding a watch work is saidtob -
lastic P.E of the spring or watch.

force of the spring. This work is stored in the form of e

which breaks into pieces. What energ

. A man drops a cup from a certain height.

Ansf When the man hold the cup at height (
dr°PPEd, the P.E will transform into the K.EO
feaction of ground the cup will break into pieces.

breaking m- t and mainly i
"& may convert into sound, he2 y is transferred to striking

fandom directions. Also some part of energ
groung,

h) the cup has P.E (mgh). As the cup is
f the cup. On striking the ground due to
The K.E of the cup at the time of

n dispersing the pieces of the cup in
point of the
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an rowing a boat ur stream is at rest with respect to shore, js he doing
m : boat upstream is at rest with respect sho S Wor,

Ans. Since the man is rowing a -
no displacement is covered. Ef%
Mathematically;

W=FSCos®

W =F(0) Cos 6

W=0

Hence no work is said to be done by the person with respect to shore.

11. Why energy savers are used instead of normal bulbs?

Ans. The efficiency of ordinary light bulb is very low due to its high resistance j.e ah

2 %. This means that in ordinary light bulbs the conversion of electrical ene.r : .out

useful form of energy (light) is only 2% and into heat energy is about 98% Lk

;:vei:erogyhs::vers d'ue to low resistance, the production of heat s very s-mall Ener

|ongegr t ;a : ;:?t::,g::ﬁmbs are about 25% more efficient and can last up to three timg:s
Incandescent bulbs. Therefore maximum part of energy can be

saved from wastage, H
+ lence energy savers '
a
Power or energy. re used instead of normal bulbs to save
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